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QUESTION 1

Which statement fails to execute successfully?

A. Option A
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B. Option B

C. Option C

D. Option D

Correct Answer: B

 

QUESTION 2

Examine these statements executed in a single Oracle session:

Which three statements are true?

A. The code for pen is 10.

B. There is no row containing fountain pen.

C. There is no row containing pencil.

D. The code for pen is 1.

E. The code for fountain pen is 3
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F. There is no row containing pen

Correct Answer: ACE

 

QUESTION 3

You need to display the date 11-oct-2007 in words as `Eleventh of October, Two Thousand Seven\\'.

Which SQL statement would give the required result?

A. SELECT TO_CHAR (TO_DATE (\\'11-oct-2007\\'), `fmDdthsp "of" Month, Year\\') FROM DUAL

B. SELECT TO_CHAR (`11-oct-2007\\', `fmDdspth "of" Month, Year\\') FROM DUAL

C. SELECT TO_CHAR (TO_DATE (`11-oct-2007\\'), `fmDdspth of month, year\\') FROM DUAL

D. SELECT TO_DATE (TO_CHAR (\\'11-oct-2007\\'), `fmDdspth "of" Month, Year\\')) FROM DUAL

Correct Answer: A

 

QUESTION 4

Examine this partial command:

Which two clauses are required for this command to execute successfully?

A. the DEFAULT DIRECTORY clause

B. the REJECT LIMIT clause

C. the LOCATION clause

D. the ACCESS PARAMETERS clause

E. the access driver TYPE clause

Correct Answer: AC

 

QUESTION 5

Examine the description of EMPLOYEES table:

1Z0-071 PDF Dumps | 1Z0-071 Exam Questions | 1Z0-071 Braindumps                                4 / 5

https://www.leads4pass.com/1z0-071.html
https://www.leads4pass.com/1z0-071.html
https://www.leads4pass.com/1z0-071.html


https://www.leads4pass.com/1z0-071.html
2024 Latest leads4pass 1Z0-071 PDF and VCE dumps Download

Which three queries return all rows for Which SALARY+COMMISSION is gerate than 20000?

A. SELECT * FROM employees WHERE salary+NULLF(commission,0)>=20000;

B. SELECT * FROM employees WHERE salary+NVL2(commission,commission,0)>=20000;

C. SELECT * FROM employees WHERE NVL2(salary)+commission,salary+commission,

D. SELECT * FROM employees WHERE salary+NVL(commission,0)>=20000;

E. SELECT * FROM employees WHERE NVL(salary+commission,0)>=20000;

F. SELECT * FROM employees WHERE NVL(salary+commission,0)>==20000;

Correct Answer: BCD
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